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1. Consider the following statements 3. With reference to the funds under Members of
Parliament Local Area Development Scheme

1. Aadhaar metadata cannot be stored for (MPLADS), which of the followin g statements
more than three months. are correct ?
_ . ' 1. MPLADS funds must be used to create
2. State cannot enter into any contract . _
] . ] ) durable assets like physical
with private corporations for sharing of infrastructure for health, education, ete.
Aadhaar data. 2. A specified portion of each MP’s fund

. s must benefit SC/ST populations.
3. Aadhaar is mandatory for obtaining
; 3. MPLADS funds are sanctioned on

yearly basis and the unused funds
cannot he carried forward to the next

- insurance products.

4 Aadhaar is mandatory for getting
benefits funded out of the Consolidated
Fund of India.

vear.

4. The district authority must inspect at
least 10% of all works under
* ' implementation every year.

Which of the statements given above is/are
' ‘Qelect the correct answer using the code given

“correct ? below :

(a) land?2 only
'(b) 3 and 4 only
(b) 2 and 4 only (¢) 1,2 and 3 only

@ 1,2and4 only

(@)  1and 4 only

(c)  3only
5 1 3ol 4:  Which one of the following categories of
(d) 1,2 and 8 only Fundamental Rights mcorporates protection
against untouchability as a form of
discrimination ?

(a)  Right against Exploitation

2. Rajya Sabha has equal powers with Lok | . (b)  Right to Freedom
Sabha in ; (c)  Right to Constitutional Remedles
' (d)  Right to Equality
(a)  the matter of creating new All India _
5. In India, separation of judiciary from the
executive is enjoined by

Services

(b)  amending the Constitution : (a)  the Preamble of the Constitution
(b)  a Directive Principle of State Policy

(c)  the removal of the government
() the Seventh Schedule

(d)  making cut motions - (d) the conventional practice
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Along with the Budget, the Finance Minister | 9, In India, Legal Services Authorities provide
also places other docunients before the free legal services to which of the following
Parliament which include “The Macro type of citizens ?
Economic  Framework Statement’. The ) .
foresaid d G B 1 ted b - 1. Person with an annual income of less
aloresald document is presented because this than ¥ 1,00,000
is mandated by
(@) Long tandi i i 2, Transgender with an annual income of
a ong standing parliamentary less than ¥ 2,00,000
convention )
: 3. Memb f Other Backward Classes
() Article 112 and Article 110(1) of the e ien Bopkmard Clissn
Constitation of Indi (OBC) with an annual income of less
onstitution of India than Z 3,00,000
(¢)  Article 113 of the Constitution of India g 8
4. All Senior Citizens
(d)  Provisions of the Figeal Responsibility . L
' ' Select the correct answer using the code given
and Budget Management Act, 2003 bel
; elow :
A constitutionél government by definition is a (a) l1and2 only
E-]
(a) government by legislature (b) 3and4 only
(b)  popular government (c)  2and 3 only
(¢)  multi-party government (d) 1and 4 only
“(d)  limited government .
10. Consider the following pairs :
Other than the Fundamental Rights, which of International Subject
the following parts of the Constitution of ‘agreement / set-up _
India reflect/reflects the principles and 1. Alma-Ata — Healtheare of
provisions of the Universal Declaration of Declaration | the people
Human Rights (1948) 7 2. Hague — BiUIOg‘iC&I and
. "~ Convention chemical
1. Preamble weapons
Disschive Prinein] . 3.  Talanoa —  Global climate
2. Iregtlve_. rinciples of Staizze Policy Dialogue . change
3.  Fundamental Duties 4. Under2 Coalition — Child rights
Select the correct answer using the code given Which of the pairs given above is/are correctly
below : matched ? a
(?1) 1 and 2 only (a) 1 and 9 on.ly (I'
i
(b) 2 only B 4odly 'F
(¢)  1and3only " © 1and3only f
(@ 1,2and3 (d) 2,3 and 4 only
HGY-P-JHKI (5-A) i
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11. A Parliamentary System of Government is | 14. One common agreement between Gandhism

one in which and Marxism ig

(a) . all political parties in the Parliament (2)  the final goal of stateless society
are represented in the Government '

(b)  the Government is responsible to the (b) - class struggle

Parliament and can be removed by it (c)  abolition of private property

() the Government is elected by the people

and can be removed by them (d) economic determinism

(d)  the Government is chosen by the

Parliament but cannot be removed by it
15. In the context of India, which one of the

following is the characteristic appropriate for
12, Which part of the Constitution of India bureaucracy ?
declares the ideal of Welfare State ?

before completion of a fixed term

(a)  An agency for widening the scope of
(a) Directiye Principles of State Policy

(b) Tundamental Rights ) *
(e) Preémble
(d)  Seventh Schedule

parliamentary democracy

(b) An agency for strengthening ‘the

structure of federalism

() An agency for facilitating political

13.  Consider the following statements : stability and economic growth

1. The Constitution of India defines its . "
(d)  An agency for the implementation of

‘basic structure’ in terms of federalism, . .
. ] public policy
secularism, fundamental rights and :

democracy.

2. The Constitution of India provides for 16. The Preamble to the Constitution of India is

Judicial review’ to safeguard the

citizens’ liberties and to preserve the (@) a part of the Constitution but has no

ideals on which the Constitution is legal effect

based. (b)  not a part of the Constitution and has
) b
Which of the statements given above is/are o legal effect either
correct, ? ;
(a)  1only (c)  a part of the Constitution and has the
() 2onl same legal effect as any other part
only
(¢)  Both1and?2 (d) a part of the Constitution but has no
(d)  Neither 1 nor 2 : legal effect independently of other parts
HGY-P-JHKI ' (7-A)
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17.  “Gold Tranche” (Reserve Tranche) refers to 18. Consider the following statements :

(a)  aloan system of the World Bank
(b)  one of the operations of a Central Bank

() a credit system granted by WTO to its

members

(d) a credit system granted by IMF to its

members

e

18. With reference to the provisions contained in
Part IV of the Constitution of India, which of

the following statements is/are correct ?

1. They shall be enforceable by courts. 20.

2. They shall not be enforceable by any

court.

3. The principles laid down in this part are
to influence the making of laws by the

State.

Select the correct answer using the code given

below :
(a)  1only
(b) 2 only

(¢) 1and 3only

(d) * 2and 3 only

HGY-P-JHKI _ (9-A)
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1.

According to the Constitution of India, a
person who is eligible to vote can be
made a minister in a State for six
months even if he/she is not a member
of the Legislature of that State.

According to the Representation of
People Act, 1951, a person convicted of a
criminal offence and sentenced to
imprisonment  for five years is
permanently disqualified from
contesting an election even after his
release from prison.

Which of the statements given above is/are

(d)

correct ?
(a) 1only
(b 2only
(© " Bothland2

Neither 1 nor 2

Consider the following statements :

1.

The President of India can summon g
session of the Parliament at such place
as he/she thinks fit,

~ The Constitution of India provides for

three. sessions of the Parliament in a
year, but it is not mandatory to conduct
all three sessions.

There is no minimum number of days
that the Parliament is required to meet
#in a year.

Which of the statements given above is/are

correct ?

(a)  1only

(b) 2 only

() 1and 3only
(d)  2and 3 only
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21. With. reference to the history of India,
consider the following pairs :
1. Aurang — In-charge of treasury
of the State
2. Banian — Indian agent of the East
- India Company
3. Mirasidar — Designated revenue
payer to the State
Which of the pairs given above is/are correctly
matched ?
(a) 1and2only
(b) 2and 3 only
(¢} 3only
(d 1,2and 3
22. With reference to the religious history of
India, consider the following statements :
1. Sthaviravadins belong to Mahayana
Buddhism.
2. Lokottaravadin sect was an’ offshoot of
Mahasanghika sect of Buddhism.

3. The deification  of Buddha by
Mahasanghikas fostered the Mahayana
Buddhism.

Which of the 'statements given above is/are
correct ? ‘
(a) 1and 2 only
-(b)  2and 3 only
{(c) 3only
(d) 1,2and3
HGY-P-JHKI
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23,

24.

25.

A)

Which of the following statements correctly
explains the impact of Industrial Revolution
on India during the first half of the
nlneteenth century ?

(a) Indian handicrafts were ruined.

(b)  Machines were introduced in the Indian
textile industry in large numbers.

(c)  Railway lines were laid in many parts of
the country.

(d) Heavy duties were imposed on the

imports of British manufactures.

Consider the following events in the historjr of
India : '
1.  Rise of Pratiharas under King Bhoja

2. Establishment of Pallava power under
Mahendravarman — I

3.  Establishment
Parantaka — I

of Chola power by

4.  Pala dynasty founded by Gopala

What is the correct chronological order of the
above events, starting from the earliest time ?

(@ 2-1-4-3
(b) 3—1—472
() 2-4-1-3
(d 3-4-1-2

Which of the following phrases defines the
nature of the ‘Hundi’ generally referred to in
the sources of the post-Harsha period ?

(a)  An advisory issued by the klng to his

subordinates
(b) A diary to be ma.intained for daily
‘ accounts
()  Abill of exchange
(d) An order from the feudal lord to his
subordinates
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26. With reference to the book “Desher Katha” | 28.
written by Sakharam Ganesh Deuskar during
the freedom struggle, consider the following

statements ;

1. It warned against the Colonial State’s

hypnotic conquest of the mind.

2. It inspired the performance of swadeshi

street plays and folk songs.

3. The use of ‘desh’ by Deuskar was in the
specific context of the region of Bengal.

Which of the statements given above are

corrgct 7 ' 29.
(a)  1and2 only

(b) 2 and 3 only

() 1and3 only | 7 .
(d 1,2ands3

27. The Gandhi-Irwin Pact mcluded which of the

following ?

I Invitation to Congress to p'articipate in
the Round Table Conference

2. Withdrawal of Ordinances promulgated 30.
in  comnection with the Civil
Disobedience Movement

3. - Acceptance of Gandhiji’s suggestlon for
enqulry into pohce excesses

4, Release of only those prisoners who
were not charged with violence

Select the correct answer using the code given

below :

(a) 1 only

(b) 1,2 and 4 only

(c)  3only

(d) 2,3and4 only

HGY-P-JHKI (13-A)
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~his own sect, with the view of glorifying his

own sect, he rather injures his own sect very

The Vital-Vidhvansak, the first - monthly

Journal to have the untouchable people as its

target audience was published by

(a)  Gopal Baba Walangkar

(b)  Jyotiba Phule |

() Mohandas Karamchand Gandhi

(d)  Bhimrao Ramji Ambedkar

With reference to the history of India, the

terms “kulyavapa” and “d_ronavapa” denote
(a) measurement of land

(b) coiﬁs of different monetary value

(c) clai’ssiﬁcation of urban land

(d) religious rituals

Who among the following rulers advised his
subjects through this inscription ? |
. “Whosoever praises his religious sect or

blames other sects out of excessive devotion to |

severely.”
(a) « Ashoka
(b) Samudragupta

(c) Harshavardhéma

(d) Krishnadeva Raya

IURP Z2Z2Z FFOFKDSWFE



W % wiepias sfogm % wed #, ‘qufir

¥og o Fal e el § & FR-w g 2

() & ugh # forg o wEia aeare 91e

b) ¥ F TR W EfER HE aI
HREERE e A

() Rt fmeht wife & siftres g e
BT

() e wemeweid efdmr wrg
vifperel =) gfEr

31.

gyl sRem % Ged §, 1884 W r@ﬂﬁﬂé
Heher form WX higa oam ?
1. wfgensii w0 fen 9 w5 iR

2. wEHid A I
3. ey IR T TR

He feu 1T e =1 v R FE W A
(a) Hae 1371 2

(b) ohad 2 31 3

(c) dhae 13 3

(d) 1,233

32.

»

ffefaa & & fha wr @ v § el
yraTed! % ey ¥ it Y Wl 1 B g1 2

33.

(a) :ﬁa%aﬁaﬁ%mmﬁw%gﬁ

TR T oy

(b)qé@sﬁ%smﬁwwﬁm
FTATHFL BT

(c) ﬁaﬁ@eﬁwu@aﬁmﬁmﬁﬁu
IERIRSIE

(d) ITEHI % HYL GEHR ol FFT0

HGY-P-JHKI (14
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~A)

34, ISl A wHowd °§ e faferm s H
wegaT fopg form & off 2

(@) 39 oieT A foa O aife gracd 3
I & T s o

(b) F% ¥R H WA W % uia il
ST ST =TEd o

(© =8 faforem &0 dw 3@ wgafiEt &
USHTR JGH ST =Tl o

@ a8 fafem amiel = ara o wome &g
yfsrféra s =mgan o

yia % efoge & ged d, “Serem stemEn
weW I9ga frfafed o @ fepe weAr o1 foremor
T ?

35.

1857 & fagis =1

1921 % mifver fagis

1859 —60 & it fagis &1

1899 — 1900 ¥ et He1 RigIE =i

(a)
(b)
()
(d)

R Wa % fagriafieseri & e,
- Freferfee serl W famm i

1. wrferfy geafier g & wefea 2

2. IlEE gYaHd @ el @ |

°3, eI g W - IT § Hafew 2 |
U el @ A v AR 7
et 130 2
Had 2 3l 3
%ae 3
1,23 3

36.

(a)
(b)
(c)
(d)

IURP ZZZFFL”?




31.  With reference to the cultural history of India, | 34. Wellesley established the Fort William

which one of the following is the correct College at Calcutta because -
description of the term ‘paramitas’ ? (a)  he was asked by the Board of Directors
(a) The earliest Dharmagshastra  texts at London to do so
written in aphoristic (sutra) style (b)  he wanted to revive interest in oriental
(b)  Philosophical schools that did not accept learning in India
the authority of Vedas (¢)  he wanted to provide William Carey and
(¢)  Perfections whose attainment led to the . his associates with employment
Bodhisattva path : (d)  he wanted to train British civilians for
(d)  Powerful merchant guilds of early ‘ administrative purpose in India

medieval South India
: 35. With reference to the history of India,

32. In the eontext of Indian history, the “Ulgulan” or the Great Tumult is the

Rakhmabai case of 1884 revolved around description of which of the following events ?

1. women’s right to gain education (a) The Revolt of 1857

2. age of consent (b)  The Mappila Rebellion of 1921

3. restitution of conjugal rights (c)  The Indigo Revolt of 1859 — 60
Select the correct answer using the code given (d)  Birsa Munda’s Revolt of 1899 — 1900

below :

36. With reference to the scholars/litterateurs of

(a) 1and 2only
ancient India, consider the following

(b) 2 and 3 only statements :

(@ land3only 1. Panini is associated with Pushyamitra

(d) 1,2and3 ; _ ' Shunga.

E 2' ! . . 3 B .
33. Indigo cultivation in India declined by the REgSRL 1S I, meicmad  with
. Harshavardhana.,

beginning of the 2(‘)th century because of
; . 3. Kalidasa is associated with Chandra
(a) peasant resistance to the oppressive

Gupta —1II.
conduct of planters ; . :
Which of the statements. given above is/are

(b) its unprofitability in the world market correct ?

because of new inventions () 1and2only
() national leaders’ opposition to the (b) 2and 3 only

cultivation of indigo (© 3only
(d)  Government control over the planters (@ 1,2and3

HGY-P-JHKI (15-A)
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38.
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TE e aeheR § i il % weed ),
“QW%@E TIETEUT (Pronuclear Transfer)
1 TN e forw BT § 2

(@) 57 fagh g & F¥=F % Y gar Y
1 U

(b) ‘{W@ IO HE Al SRR W
G RTEh ST

(©) €W (Stem) FIRTewRA w1 FRTHS Yo #
fompra '

(@) oo H gresfirRT are A w1 R
R @ wR R §, Fh she
(Artificial Intelligence), ﬁtlﬁ"fﬁaﬁ | ﬁ Torer
%ﬁﬁw@mﬁmw%?

1.-3ﬁ@ﬁ$s$|szﬁﬁﬁgﬁ®@qa‘sm
HET -

o i o Tl ShC A B

.3, Qmi @ fEgm

4. %&R’ﬁ@ﬂﬁ (Text-to- Speech)an(aﬁ'vr
5. ﬁgﬁ&ﬁfm%ﬁﬂm
ﬁmm@mmwaﬁmﬁﬁq:
(a) éﬁﬂi,z,éaﬂts

(b) A 1,3 3 4

(c) haw 2,4 35

@ 1,23 43M5
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39. W@ WEW HER (VLC) TAeh & wed 1,

40.

(16—A)

reffeg d Y PR S TR B 2

1

4.

VLC, 875 ¥ 780 nm et fogd-graehi
gt atree! w1 I H B |

VLC @1 Aoty SR wER % w9
o S ST R

VLC s I gat 7 g skt fereet wen

1 3tfirs oo o AT o TRt B |
Wcﬁﬁgﬁgmﬁumﬁwqﬁﬁmél

ﬁﬁqmﬁzwuﬁﬂwaﬁmgﬁq
(a) wad 1,23 3

®) Faet 1,230 4

(¢) ae 1,337 4

(d) Fael 2,334 -

“seiferam aelehl o dgy H, ﬁmﬁﬁ@rﬂ%m‘r
W fRR Hif

1.

ug w wdwe @ g e ' el
o &t g %, Wﬁ@tﬁiﬂﬁ@

ot Rl = o |

2. Wﬁ?ﬁﬂtﬁmaﬂraﬁqmﬁm%%
WH@@EW%@W%W
§71 '

3. cifRed & enumyg afmAl W s
Wﬁ%ﬂ%&ﬂaﬁﬁﬁmﬁ%
Torepfira foran s wesaT &

I R § ¥ A W A 2 |

(a) Wl

(b) At 1 3R 2

(c) HIA 2

(d) e 1 3T 3
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37. In the context of recent advances in human | 39.
reproductive  technology, “Pronuclear
Transfer” is used for
(a) fertilization of egg in vitro by the donor
sperm

(b) genetic modification of sperm producin_g
cells

(¢) development of stem cells into
functional embryos

(d) prevention of mitochondrial diseases in
offspring

38. With the present state of development,
Artificial Intelligence can effectively do which |
of the following ?

1. Bring down electricity consumption in
40.
industrial units
2.  Create meaningful short stories and
songs
3. Disease diagnosis’
4, Text-to-Speech Conversion
5. Wireless transmission of electrical
energy
‘Select the correct answer using the code given
below : '
(a) 1,2,3and5 only
(b) 1,3 and 4 only
(¢) 2,4 and5 only
(d 1,2,3,4and5
HGY-P-JHKI (17-A)

'RZQORDGHG

With Visible Light
Communication (VLC) technology, which of

reference to

the following statements are correct ?

1. VLC uses electromagnetic spectrum
wavelengths 375 to 780 nm.

2. VLC is known as long-range optical
wireless communication.

3.  VLC can transmit large amounts of data
faster than Bluetooth.

4, VLC has
interference.

no electromagnetic

Select the correct answer using the code given
below : '

(a) 1,2and 3 only
by 1,2 anci 4 only
(c) 1,3 and4only
(d) 2,3and4 only

With reference to “Blockchain Technology”,
consider the following statements :

1. It is a public ledger that everyone can
inspect, but which no single user

controls.

2.  The structure and design of blockchain
is such that all the data in it are abqut
‘cryptocurrency only.

3.  Applications that depend on basic
features of blockchain can be developed
without anybody’s permission.

Which of the statements given above is/are
correet ?

(a) 1lonly

(b) 1and2only
(¢) 2only.

@ 1 .and 3 only

IURP Z2ZZ FFOFKDSWFE




41.

42,

HGY-P-JHKI

L wd | wEe T digHrh fogen

e At % wef #, ffafad wemt w

ﬁﬁl’l’(ﬁﬁm:

1. STh! A9 IR # SNRE ik wfosH %
aTEeh! o ®Y H T FRAT S wehdT B |

2. @ "HE R & afoued W % fog
HEM W KRS & T T S
el & | '

3. TR SaErElE deR § Iwm R
EiR:ET I :

4, HEA e Sy

~ (biodegradable) gt & |

3T FoHl H ¥ I HE E 2

(a) heet 137K 2 '

(b) *a 2,3 3 4

() Had 1,33 4

@d 1,2,33M4

frefea nfifafet w few Hift -

2. dhey SSeiEdl & g@l @ flew

AT

3. Y. fowemwr & fou seguor weeh &

Bl % YA & T Teha AT
bl % A TR W, 39 fafetiEt § &
68, S % TN A ThrdTqds TR ST HeRdT
-
(a) ohael 132
(b) el 2 3R 3
(¢) <hael 131 3
(d) 1,233

'RZQORDGHG IURP Z2ZZ FFOFKDSWE
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44,

45.

A)

2. oaRe w1 SAW S0 A @ gRfe i
Fereen 4 wruTfed feRarm ST weRdn § |

3. WHa IiE SERRh wh (pluripotent stem)
HIRERIAT Hl Th Y & Y1 § Aadiea
fopam s weRaT B |

Sy el H ¥ HH-AUA T8 R 2

(a) had 1

(b) heer 2 3R 3

(¢) had 2

d 1,233

Id | :@ﬁw H’{[‘Iﬁ JFHH (Pneumococeal

Conjugate Vaccine) % IYLNT 1 T Hagwd % 7

1. ¥ Ay =pifE o Ty @ o
si A ¥ Freg o ¥ |

2. 39 ufaeifaft w e s ) o gt

2 S ofvuufauel Sfegstt ¥ freg
gt & 8 |

.3. 3 Jerefle % g T W (side effects)

T8 o T @ ¥ S W yeE
graeet  arfifsramd (allergic reactions)
FA B | :

= fa e e 1 RN R a s g

(a) ohad 1

(b) haet 1 37 2

(¢) “haet 3

d 1,233




43. “The experiment will employ a trio of
spacecraft flying in formation in the shape of
an equilateral triangle that has sides one

1. They can be used as carriers of drugs million kilometres long, with lasers shining

between the craft.” The experiment in

question refers to

41. With reference to carbon nanotubes, consider

the following statements :

and antigens in the human body.

2. They can 'be made into artificial blood (a) Voyager-2
capillaries for an injured part of human - New Hortzons |
body. (¢) LISA Pathfinder :

3. They can be wused in biochemical @) - Hyolyed LISA

SEnSOrs. 44, Consider the following statements :

4,  Carbon nanotubes are biodegradable. 1. Genetic changes can be introduced in
; lls that
Which of the statements given above are the;cells .a produce eggs ar sperdis of
a prospective parent.
2
Gameck 2. A person’s genome can be edited before

(a) 1and2only birth at the early embryonic stage.

3. Human induced pluripotent stem cells-

(b) 2,3 and 4only . can be injected into the embryo of a pig.
(¢) 1,3 and4only Which of the statements given above is/are
: correct ?

(d) 1,2,3and4

(a) 1lonly

(b) 2and 3 only

, (¢)  2only
42. Consider the following activities : @ 1.2ind3

1.  Spraying pesticides on a crop field
45. What is the importance of using

2. I ti i
' nspecting thg craters of active Pneumococcal Conjugate Vaccines in India ?
volcanoes ' : 1. These vaccines are effective against
3. Collecting breath samples from spouting pnel}tsnoma as well as meningitis and .
] . sepsis.
whales for DNA analysis ' 2, Dependence on antibiotics that are not

effective against drug-resistant bacteria
. can be reduced. N
the above activities can be successfully carried 3 These vaccines have no side effects and

out by using drones ? ' cause no allergic reactions.

At the present level of technology, which of

(a) 1and2only Sele¢t the correct answer using the code given

below :

(b) 2and 3 only _ (a) 1only

(¢) 1and 3 only (b}~ Land Zonly
(c) 3only

(d) 1,2and3 ' (d) 1,2and3

HGY-P-JHKI (19-A)
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47,
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yid #, “ufectss f gwrgF” (Public Key

Infrastructure) 9ea fordeh wem o Th e |

ST 8 ?

(@ %ﬁmmﬁm@mm

WTe GUaT TR T
(c) TaTEey ST 3 fiam snemd dee

(b)

(d) TEER IR 9fEs SMURYg ST

ffafas wo § @ B9 W, s i

ISR o s T At % o) TE § 7

1. ey Hifeme § Agers s Akl
Bl & Sefe wiftr wiftemedt & 9 &
Bl | -

9. Uy HiREEE ¥ wewm frg ad |

Bt ol s el Wit iRt 3
3 et 2

3 Wwaﬁﬁwﬁq’aﬁwm

Brft & wfh Wi B § R B
@At gt 8 |
ﬁ%ﬁqwi‘awmwaﬁmgﬁq
(a) Fad 1302
(b) e 2 3K 3
(c) hae 13 3

@ 1,233
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48.

49.

50.

A)

freafafan o @ " FRoyERE S TgE

3eqE B @ .

1. THElfcia dTEd (automobile) gRT fsehifla
KGR '

9. GEETE B AT

3. RS H T

4. TR T 7 SRl o wATeR s 39T

5. uiferrfe & fafifa sedh w1 swi

= fou My e w0 T W wE I g

{(a) Wizﬂﬁ'{i%

(b) oEel 2 3 4

(¢) I 1,334

d) 1,28 435

afg fere wferss & g e foxfla gehe @

2, @ fefafed # 4 S99 sriAfkEl, Twa

Hl, FaU AUH GWEE b WA, FB IYRe

TGH W s BA 2

1. SreushrE el sl feiR A

2. F© AR el Sl Bl A HE

3. Yofi @rd # qul witedHierer st s v

ﬁ%ﬁnq&wmwaﬁwgﬁq

(a) e 1 :

(b) ohae 1R 2

(¢) Had 3

(@ 1,233

Ife 219 A d% F wht SW @R (Demand
Deposit Account) gz 1,00,000 St Fehg T

frepTerd €, @ sreleraten  drchifers &9 @ g5

1wy gt 9 3EenT F WA 9g ?

(@) Tzl W wam gfd # < 1,00,000 H
sl .

(b) Ha1 I ' g H T 1,00,000 R gfE
faul

() Hg1 & w7y 9fd § ¥ 1,00,000 ¥ 3tfere

-l g w
() garaﬁrmtpﬁawﬁaﬁmévﬁ
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46. In India, the term “Public Key Infrastructure” 48.
is used in the context of

(a) Digital security infrastructure

(b) Food security infrastructure

(¢ Health care and education
infrastructure

(d) Telecommunication and transportation
infrastructure |

49.
47. Which of the following statements are correct
regarding the general difference between
plant and animal cells ?

1. Plant cells have cellulose cell walls
whilst animal cells do not.

2. Plant cells do not have plasma
membrane unlike animal cells which do.

3. Mature plant cell has one large vacuole
whilst animal cell has many small
vacuoles.

Select the correct answer using the code given |

helow 50.

(a) 1andZ2only

(b) 2and3only

(¢) 1and3only

(d) 1,2and3
HGY-P-JHKI (21-A)
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Which of the following are the reasons/factors
for exposure to benzene pollution ?

1 Automobile exhaust

2 Tobacco smoke

3.  Wood burning

4 Using varnished wooden furniture

5.  Using products made of polyurethane

Select the correct answer using the code given
below :

(a) 1,2 and 3 only
(b) 2 and4 only

(¢) 1,3 and 4 only
(d) 1,2,3,4and5

If another global financial crisis happens in
the mnear future, which of the following
actions/policies are most likely to give some
immunity to India ?

1. Not depending on short-term foreign
borrowings ? o

2. Opening up to more foreign banks

3. Maintaining

full  capital account
convertibility : :

Select the correct answer using the code given
below :

(a) 1lonly

(b) 1and 2only
(¢) 3only

(d 1,2and3

If you withdraw ¥ 1,00,000 in cash from your

Delgand Deposit Account at your bank, the
immediate effect on aggregate money supply
in the economy will be

(a) toreduceitby T 1,00,000
(b) to increase it by ¥ 1,00,000
(¢) toincrease it by more than ¥ 1,00,000

(d) toleave it unchanged




- 53

51 i see Fe BAW % god §, AR | 54 sl oo % dad #, Frafifer # 3
¥ @ s 3ok vygE fagvar ar St 8 2 H-EA Tfaxf o § aftifaa 274 2
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S8, SRHE 4 W% SIS = %W ﬁ’r 55. WRA H, # $o w9 flFel “E.Usu
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() m2ﬁ4 56. ‘SRSt FRw TR (TRIMS) % e
(@ FF3 Py ol # @ B wd W
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HATE W’%@ (West Texas Intermedlate) 2. 3 a@aﬁ ‘QH it a‘)l?ﬁ % SUR ¥
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e s A fdeh e 3 B @ o
(a) el d 6l 3 R U e 1 wER W TE IR R
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@ 1,233
HGY-P-JHKI (22-A)
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51. With reference to Foreign Direct Investment | 54. In the context of the Indian economy,
in India, which one of the following is non-financial debt includes which of the

considered its major characteristic ? following ?
1. Housing loans owed by households i

is the investment through capital ) ‘
W i the S & : 2. Amounts outstanding on credit cards

instruments essentially in a listed )
3. . Treasury bills

company. .
. . Select the correct answer using the code given

(b) It is a largely non-debt creating capital hiatuws

flow. (a)  1only
(¢) It is the investment which involves (b) 1and 2 only

debt-servicing. _ : (¢) 3only
(d) Tt is the investment made by foreign (d 1,2and3

institutional investors in the

55. In India, why are some nuclear reactors kept

Government securities. _
under “TAEA Safeguards” while others are

. i 10t ?
52, With reference to the international trade of niot ¢
India at present, which of the following (a) Some use uranium and others use
statements is/are correct ? thorium
1. India’s merchandise exports are less (b)  Some use imported uranium and others
o use domestic supplies

than its merchandise imports.

(¢) Some are operated by foreign
enterprises and others are operated by
domestic enterprises

2, India’s imports of iron and steel,
chemicals, fertilisers and machinery

have decreased in recent years.
(d) Some are State-owned and others are

3. India’s exports of services are more than privately-owned

its imports of services.

With reference to Trade-Related Investment -
Measures (TRIMS), which of the following
statements is/are correct ?

4. India suffers from an ~ overall | 96.
trade/current account deficit.

Select the correct answer using the code given

belaw: 1. Quantitative restrictions on imports by

foreign investors are prohibited.

(a) 1land2onl
' Y 2.  They apply to investment measures

(b) 2 and 4 only related to trade in both goods and
(¢) 3only services. -
(d) 1,3 and4only 3. They are not concerned with the

‘regulation of foreign investment.

53. The term ‘West Te: iate’ , .
¢ - ost Texas Intermediate, Select the correct answer using the code given

sometimes found in news, refers to a grade of el ¢

(a)  Crude oil (a) 1and2only
(b)  Bullion (b) 2 only

(c) Rare earth elements (¢) 1and 3 only
(d) Uranium o , (d 1,2and3

HGY-P-JHKI (23-A)
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9. ELd . (DCCBs) ®1 TH Wadl Yq@
®E ‘wufies S TrE wffEr w A
I HUAT 2 | _

3w Hel H | HHE-AVE TE B ?

(@) ¥ 1 ‘

(b) had 2

(¢) 13T 22Ml

(d FA1L,TE2

60. Wa H, fareht sufeh % wrge swn wm W, Bifr

# 7 H quE @ o Tl & el
gm: fefafaa § 4 SReH ¥ 9w fe
S 8 ?

1. 3R+ AR FRRT T SRl Vg
Fiferd T 3T B, T B O
ETfAd e e el T |

9. ¢ g wifra & Smar & fop forelt st
A G SHEER R IR
Qg T § A T HEel A

3. 3 TIE TSR BT @ Al 39 B R
Eed w0 % o RRw wserEr 6

. GEISERNSUE IR

4, Ffe @I dEU 98 GHeAT SRR B @
Wﬁaﬂmmﬁaﬁmﬁm

i fo T e w1 g R T I A

(a) el 1,230 4

(b) Hael 1,330 4

(¢) had 237 3

(@ 1,2 334

(24-A)
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57. If the RBI decides to adopt an expansionist | 59.
monetary policy, which of the following would
it not do ?

i Cut and optimize the Statutory
Liquidity Ratio

2. Increase the Marginal Standing Facility
Rate

3. Cut the Bank Rate and Repo Rate

Select the correct answer using the code given

below :

(a) 1and2only

(b) 2 only

(¢) 1and3only

(d 1,2and3

) »

58. With reference to the Indian economy after 60.
the 1991 economic liberalization, consider the
following statements :

1. Worker productivity (T per worker at
2004 — 05 prices) increased in urban
areas while it decreased in rural areas.

2. The percentage share of rural areas in
the workforce steadily increased.

3.  In rural areas, the growth in non-farm
economy increased.

4. The grovﬁth rate in rural employment
decreased.

Which of the statements given above is/are

correct ?

(a) 1and2only

(b) 3 and 4 only

(¢) 3Sonly

(d) 1,2and4only

HGY-P-JHKI (25-A)

'RZQORDGHG

Consider the following statements :

i In terms of short-term credit delivery to
the agriculture sector, District Central
Cooperative Banks (DCCBs) deliver
more credit in comparison to Scheduled
Commercial Banks and Regional Rural
Banks. '

2. One of the most important functions of
DCCBs is to provide funds to the
Primary Agricultural Credit Societies.

Which of the statements given above is/are

correct ?

(a) lonly

(h) 2only

(¢) ‘Bothland2

(d) Neither 1 nor 2

In India, under cyber insurance for
individuals, which of the following benefits
are generally covered, in addition to payment

for the loss of funds and other benefits ?

1. Cost of restoration of the computer
system in case of malware disrupting

access to one’s computer

9. Cost of a new computer if some miscreant
wilfully damages it, if proved so

8. Cost of hiring a specialized consultant to

" minimize the loss in case of cyber

extortion _

4. Cost of defence in the Court of Law if any
third party files a suit

Select the correct answer using the code .gi.ven

betow : ' '

(a) 1,2and4only

(b) 1,3 and 4 only

(Cj 2 and 3 only

(d 1,2,3and4

IURP Z2Z2Z FFOFKDSWFE




61. Eﬁfmﬁ,ﬁmﬁ%ﬁ;ﬁfﬁﬁﬁm 63. e % dR Tl @ Frefefen 4 @ A
HHET ST Hehell & 2
Jepta-t fifeat
R e fgee e a Sup— A R T % e
waet e Fratfa e ST 6 T off 7
2. Wfies FR T wfifE #1 srephe L R A e
3. HmHTeR Yeft farepme 2. UGN G SR HEAT
4. FuwH B e faselt A gl 3. WEHR G IS BT
5. Wwﬁmwwﬁwﬁ 4. mm(subsidies)
G T g AT GRTA | g e i g
:ﬂ%ﬁﬂmﬁaﬂmﬁﬂiﬁéﬁtﬁﬁﬁ (a) WI,Z@TZL
(a) had 1,23 5 (b) haet 1,331 4
(b) Had 1,383,430 5 © %ad 2 31 3
() had 2,33 6 : _ . @ 1,2, 334 |
d 1,2,3,4,53W 6
62. WRd § B & “erenfa U@ (Interést 64. Frfeifiga semt W femm hifSw .
Coverage Ratio)’? 9§ 1 H  HE™ | _
3, N N 1. TUsd ques # vRa-sics =amr & gea d
1. R 3w, Rl e W W@ g, % w PG R | |
SqH STifEw i Hwe A Heg R | 4 9. WG 3N Ty % dte B ATl SR §
2. a8 38 BH, @ % R0 Y W1 @R, F “Gu3 i U [ W AT B R
aﬂﬁ?ﬂéﬁi’r@n%mﬁmm '
g | 95@%|
3. wéﬁaﬁmﬁ‘wmaﬁagm' 3. fo e adt 4, Ef‘&wqﬁmﬁw%
S arferes ghm, IwEht o wEmENe 'me@a@mm@%l
rran It € ' gt | |
R e e w@amﬁéﬁqué%"l%@? |
(a) Had 13 2 ot 130152
(b) had 2 G it 2
) e 1ais (c) had 3
@ 1,233 d 1,233
HGY-P-JHKI (26-A)
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61. In India, which of the following can be | 63.

considered as public investment in
agriculture ?
1. Fixing Mininium Support Price for

agricultural produce of all crops

2 Computerization of Primary
Agricultural Credit Societies
Social Capital development

4, Free electricity supply to farmers

Waiver of agriculfuralr loans by the
banking system

6.  Setting up of cold storage facilities by
the governments

Select the correct answer using the code given

belbw :

(a) 1,2and5only

) 1, 3, 4 and 5 only *

(¢ 2,3and86only |-

64..

(d 1,2,3,4,5and 6

62. What is the importance of the term “Interest
- Coverage Ratio” of a firm in India ?

1. It helps in understanding the present
risk of a firm that a bank is going to
give loan to.

2. It helps in evaluating the emerging risk
of a firm that a bank is going to give
loan to. :

3. . The higher a borrowing firm’s level of
Interest Coverage Ratio, the worse is its
ability to service its debt.

Select the correct answer using the code given

~ below :

(a) 1and2only

(b) 2 only

(¢) 1and3only

(&) 1,2and3

HGY-P-JHKI (27-A)
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Which of the following factors/policies were
affecting the price of rice in India in the

recent past ?

1. Minimum Support Price

2. Government’s trading
3.  Government’s stockpiling
4.  Consumer subsidies

Select the correct answer using the code given

below :

(a) 1,2and4 only
() 1,3 and 4 only
(¢) 2and 3 only

(d 1,2,3and4

Consider the following statements :

1. The value of Indo-Sri Lanka trade has

consistently increased in the last
decade.
2. “Textile and textile articles” constitute

an important item of trade between

India and Bangladesh.

3. In the last five years, Nepal has been

the largest trading partner of India in
South Asia.

Which of the statements given above is/are

correct ?

(a)-’“ 1 and 2 only

(b) 2 only
(c) 3only
(d 1,2and3

I URP Z2Z2Z FFOFKDSWFE




65.

66.

HGY-P-JHKI

ffefaa @ @ frm ogg & woft 9w/ <@ G20
& TeH & 7

(@) oM, AfFE, ah snhe T q

(b) ST, HTST, FARRN T =FeIvs

() i, 30, B3l 3 Ud foemm
(@ sEmfiE, s, R e gl s

PN S S v o

3 3 -t SRl 3 Tor ! Bt ST |

Y
0T T IS HUAT AT & ?

1. wH uiEeRE % wEE g R

aSft % form
2. IR ers WAl dwell ud firft gl %
%9 % o

.3. tﬁlﬁ.qﬁaﬁzﬁmaﬁw\aﬁ%

%-Q ’ .
4. HHA FIIE % 915 b Gl & g |
5. 3 R wx Pt qe i # v
gfown & oo & g
3 B e i e g
(a) A 1,235
(b) e 1,337 4
(c) %?{2,3,43?!15

d 1,2, 83 43R5

67. Taefafiga wedl wt femm s .
1. @ Fegell @ FUWRHl ﬁ;ﬂ %gaa»‘iEH’
(CPD) H MW (weightage) 3% ‘s Hed
Fehieh (WPT) § fu 1g R § Ak & |
2. WP, Fanall & gedt # g o ufEdH
=) TE gemear, St@r 6 CPI % § |
3. i fod d% 3 o ggehifa & ged

WA 3g 7 e Hfa i & Rt st
fteds ¥g WP ! 2791 for 8 |

I oAl § @ e ud 8 2
(a) Hael 13 2

(b) Had 2

(c) had 3

@ 1,23R3

68. Tmfafga gmi w fomm it ;- |

7 d S d §
1. .ﬁaﬁﬂ —  3USHF IR
2. 9 — IERY AR
3. dem  — A ur
4. st — (R HEEER
s et 8 8 P e g ¥ 2
(a) Hae 13T 2 |
(b) a3
(¢ %ad 33 4
(d) At 1,23 4

(28-A)
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65. In which one of the following groups are all
the four countries members of G20 ?
(a) Argentina, Mexico, South Africa and
Turkey
(b)  Australia, Canada, Malaysia and
New Zealand
(¢)  Brazil, Iran, Saudi Arabia and Vietnam
(d) Indonesia, Japan, Singapore and South
Korea
66. Under the Kisan Credit Card scheme,
short-term credit support is given to farmers
for which of the following purposes ? .
1. Working capital for maintenance of
farm assets
2. Purchase of combine harvesters,
~ tractors and mini trucks
3. . Consumption requirements of farm
households
4. - Post-harvest expenses
b, Construction of family house and
setting up of village cold storage facility
Select the correct answer using the code given
below :
(a) 1,2 andb5 only
(b) 1,3 and 4 only
(¢ 2,3,4and 5-only
(d) 1,2,3,4and5
HGY-P-JHKI (29-

'RZQORDGHG

67.

Consider the following statements :

1. The weightage- of food in Consumer
Price Index (CPI) is higher than that in
Wholesale Price Index (WPI).

2. The WPI does not capture changes in

the prices of services, which CPI does.

3. Reserve Bank of India has now adopted
WPI as its key measure of inflation and
to decide on changing the key policy

rates.

~ Which of the statements given above is/are

68.

correct ?

(a) 1and2only

(b) 2only
(¢)  3only
(d)

1,2 and 3

Consider the following pairs :

River Flows into
-1. Mekong — Andaman Sea
2. Thémes- — .Irish Sea
3. Volga — :CaSpian Sg_aa

A)

Indian Ocean

4. Zambezi

Which of the pairs given above is/are correctly

matcl}ed ?

(a) 1and 2only
(b)  3only -

G mandaoily
(d) 1,2and 4 only

I URP Z2ZZ FFOFKDSWFE



69. Trmferfigd et W frem iR - L
1wl s, o w e B SEa
g ge@ (MSP) W S (@illg) WA
¥ forehl ot Tsdg i wRw (g 8.) |
arefifia gran 2 |
9. oMWl T @@l w1 MSP et o
/e it wew # 98 'R W frifa
e s & fom T W IR ged
€ 75 U |
IRfE el H A AR T R 7
(@ F 1 72.
(b) hadA 2
() laﬂ'{?_,‘cﬂﬁ .
(@ FALAE2
7o, YRt seferewen % e #, fmfafed wemi
m%anﬁ%m:
1. ‘anfuifs 93 (Commercial Paper)’
TeeRTene wienfo-Ed a=e-E g |
2. ‘Smr WHIIYA (Certificate of Deposit)’
s fod S g fedt frm st fela
3R T AT EehTe W9 @ |
3. “iomafy e (Call Money) oTRS®
ST % fu uge ored orafy W fer
2 73.
4. ‘HE?—W g  (Zero-Coupon Bonds)’
st =i S gro et 5 ol
fFT 9 A = fEd ATl g
g
Ipdad oMl i & A TE B8 ?
(a) Had 1317 2
(b) haS 4
(¢) had 13 3
(d) ad 2,33 4
HGY-P-JHKI (30—A)

'RZQORDGHG

w%mm%ﬁzﬁﬁ,ﬁmﬁf@ﬁ
i at f=m Hif
1. g - aftcrht g geoesd

— W W g
_ drg e o WTEReT T

IR gl o @ HEE wd gt & 2

(a) had 13 2

(b) et 13 3

(¢) haet 230 3

(d 1,233

st wET % wed #, FrfafEd wodt W

foreme <hifSre

1. R % TE W g W H e |

9. geft 1 firRan Tafy 22 WE 9% @
Tt 2 |

2. HHI

3. 34

3. mwEa: et & 40 9 1 I TH G T

g7 T ol &7l B @ |

4 W@ F Tsd H, wRE i waiw
SHeere A § |

IRjER e A HH-EVA Wl R/ ?

(a) ohael 1311 2

(b) Fad 2 3N 4

(c) had 3 '

(d) aer 1,3 3R 4

frfofas § & s i & FwEld s
Afeme? .

1. IHER TS e

2. wiftehiel Ul Jum

3. TeIEEN STY ST &

4, IEATS TSI FAHINTT

i R Te e 1 AT R TR I G
(a) hae 1371 2

(b) haet 3 3N 4

(c) Wl,SaﬁT:;

@ 1,2, 334
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69. Consider the following statements :

1. In the case of all cereals, pulses and
oil-seeds, the procurement at Minimum
Support Price (MSP) is unlimited in any
State/UT of India.

2 In the case of cereals and pulses, the
MSP is fixed in any State/UT at a level
to which the market price will never
rise.

Which of the statements given above is/are

correct ?

(a) 1only

(b) 2 only

(c) Bothland2

(d) Neither 1 nor 2

-
70. With reference to the Indian economy,
consider the following statements :

1. ‘Commercial Paper’ is a short-term
unsecured promissory note.

2.  ‘Certificate of Deposit’ is a long-term
instrument issued by the Reserve Bank
of India to a corporation.

3. ‘Call Money’ is a short-term finance
used for interbank transactions.

4.  “Zero-Coupon Bonds’ are the interest
bearing short-term bonds issued by the
Scheduled Commercial Banks to
corporations.

Which of the statements given above is/are

correct ?

(a) 1and2only

(b) 4only

(¢) 1and3only

(d) 2,3and4only

HGY-P-JHKI

'RZQORDGHG

71.

72,

73.

(31-A)

With reference to the cultural history of India,
consider the following pairs :

Renunciant and
Wanderer

1. Parivrajaka —

Priest with a
high status

2 Shramana —

Lay follower of
Buddhism

Which of the pairs given above are correctly
matched ? -

(a) 1and2only
(b) 1and3only
(¢) 2and 3 only
(d 1,2and3

3.  Upasaka —

With reference to Indian elephants, consider
the following statements :

1. The leader of an elephant group is a
female.

9. The maximum gestation period can be
22 months.

3.  An elephant can normally go on calving
till the age of 40 years only.

4.  Among the States in India, the highest
elephant population is in Kerala.

Which of the statements given above is/are
correct 7 '

(a) 1and 2 only

(b) 2and 4 only

(¢) 3only

(d 1,3 and4only

_ Which of the following Protected Areas are

located in Cauvery basin ?

1.  Nagarhole National Park

2.  Papikonda National Park

3.  Sathyamangalam Tiger Reserve
4. , Wayanad Wildlife Sanctuary
Select the correct answer using the code given
below : ‘

(a) 1land 2only

(b) 3 and 4 only

(¢) 1,3 and 4 only

(d  1,2,3and 4

IURP Z2ZZ FFOFKDSWFE




74, W@ H Sefafwa F ool A W6 |77 feffed § @ wRd W@ weife gwey
BIHISY, ey s, d-fare fifieae el @W%maﬁ;ﬁ?{mﬁmmﬁ

BIEE-910E LW #1 & 2 et st B 2
' - ' 1. 3TERIE Iela SvaRoy
(b) e i 0P KA
R _ 3. Ty a=eila envRmuy
. 4. HHE TR 3UH
(d) SRR
ﬁﬁm@wmwaﬁmﬂﬁt{
(a) Had 13 2
75. WA oY g (arefem) 3w Iuela, S (b) Hadt 230 3
gorhl i W et et @ o ket wrawaf
hael 3 3 4

%%mw%mﬁmﬁrﬁﬁﬁﬁﬁqm ©
i g ufig & 2 : @ had 1 30 4
(a) g1 UL JTH |

(b) HTE T I 78, T Tew Fmiv §, wiawha detwEnfE B

(0 HGASTE SRfE SR gRITE w0 Foar Fe weRm B aer %
(d) qIE SR TASHE AHIROT fou ffafen 4 @ fhes wm = st
' srfireRar §t S @ 2
1. AW
76, Frq T Fefofe § & fress fog wh = 2. ¥ fuftr Yewree Seifich
THEAIRY? 3. SeEheweEed
1. emuR-Ess ¥ Fmf ¥ f 4. 3w Tt Yepree WenfiEh!
2. P g % g ¥ g | T
s a‘ﬁz%m%fm EIEACCRIE TR RS T CISA T (Ei
I AR ] T el (a) iﬁal,zsﬁts
(a) had 132 _
5 Wzaﬂts (b) Had 2,3 30 4
() Had 13 3 () had 43R5
d 1,23R3 | (d) e 1315
HGY-P-JHKI (32-A) |
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74, With . reference to India’s biodiversity, | 77.
Ceylon frogmouth, Coppersmith  barbet,
Gray-chinned minivet and White-throated
redstart are
(a) Birds
() Primates
(¢) Reptiles’

(d) Amphibians

 75. Which one of the following protected areas is
well-known for the conservation of a
sub-species of the Indian swamp deer
(Barasingha) that thrives well on hard ground
and is exclusively graminivorous ? .
(a) Kanha National Park
(b) Manas National Park 78.

o 8w Mudumalai Wildlife Sanctuary

(d) Tal Chhapar Wildlife Sanctuary

76. Steel slag can be the material for which of the

following ? :

1. Construction of base road

2.  Improvement of agricultural soil

3. Production of cement
‘SQelect the correct answer using the code given

" below :

(a) 1landZ2only

(b) 2and3only

(¢) 1land3only

(d 1,2and3

HGY-P-JHKI (33-A)

Which of the following are the most likely
places to find the musk deer in its natural

habitat ?
1. Askot Wildlife Sanctuary
9. Gangotri National Park

3. Kishanpur Wildlife Sanctuary

4. Manas National Park

Select the correct answer using the code given

helow :

(a) 1and2only
(b) 2and 3 only
(¢) 38and4only

(d) 1and4only

In rural road construction, the use of Which of
the following is preferred for ensuring
environmental sustainability or to reduce

carbon footprint ?

1.  Copper slag

9. Cold mix asphait teéhnoldgy
3.  Geotextiles N

4.  Hot mix aséh_alt ;:echnology 3
5.  Portland cemeﬁ’g _

Select the b{orre'ct answer using the code given

below :

(a) .;, 2 and 3 only
(b) 2,3 and 4 only
(¢) 4and5only

(d) 1and5only




79. Frafafaa weei o fomm Hif

1. @ 6 e H s, diEr it ang
srafde g § | '

2. e Gafew e o watawr ¥ gewt
SEATEEE ot AEgeE W STieuTES
Ieafila & B |

3. W wE § w@ A A AEn aef
ST ®

U el § W AV T B8 2

(a) had 1

(b) “HaA 2 3 3

(¢) a3

d) 1,233 ¥

@?ﬁ‘ﬁam‘ranmwmn%?

1. 9EMER 5@'&1’( @l (vertical farming) T
gigH LA o I &% €T § WG R
STERME | ‘

2. W€ WEMER qﬁga?{ oW % A *
w 0 Oy R oS 8, @ @
AR gEAstal 1 gfg i
QT &l & | |

3. W SRR JlGHT HIEAW % W % ®I A
W fRn ST %, 99 98 3@ afg
WM f) AR g B AR @
HAY o ST TE W HErIe T B |

ITF FHEl A T wH-AVA T8 B/ 2

(a) hae 13 2

(b) had 2

() ad 130 3

80.

d 1,233

HGY-P-JHKI (34

'RZQORDGHG

Ify foreft M9 <t fafsme sfa &1 a=rsha gan
fufem, 1972 S v F war mn R, @
ThT T qread § 2

@ W9 H G H R i h
STETIHAT 8 |

b) T NG H o Bl o offeufy § 9 @
Thel! |

(c) I8 Teh AT{afRIhd; SUiaid HEe qiam & |

(d) UET U7 SRR BT & 3R Uiiad %
foru g BT © |

81.

e R T TSas o 90 & wed §, TR
ST, el a1 el fohe fore feeare 9 2
() Toceft =R AT SewTE

(b) wiicrsmreft v <Y TrenfRET

() IR TR FAT AU TINE Y et
o

(@) g o % wEegel diseers

82.

83. Tfﬁi T YRR (zero-tillage) H/F FT @1
88 ?

i ﬁ@?ﬁw%mﬁﬂ‘rﬁwﬁmﬁa |

I goTTs Twe B |
9. wEd € % ey 6 T s B, ae
& ofiTl =1 9 gay | €Y qqur e @
#3. TR I YR G R |
= fou U e 1 R A I g
(a) “hael 13T 2
(b) hae 23 3
(c) had 3
(d 1,23R 3
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